
RGR NA Miata Splitter Hardware Packing List
-----------------------------------------------------------------------------------------------------
Parts:
Base Kit
(1) Cardboard Splitter Template
(2) Splitter Mounts (left/right)
(1) Splitter Mount Connector (folds at 90 degrees on each side)

Full Kit - (raw or powder coated)
(1) Aluminum Splitter Blade
(2) Splitter Mounts (left/right)
(1) Splitter Mount Connector (folds at 90 degrees on each side)
-----------------------------------------------------------------------------------------------------
Hardware:
Base Kit
(6) SS M6-1.0 Flange Nuts (1) Pair of 12-13.75” Splitter Rods w/ hardware here:
(8) SS M6 Small Washers (2) 5/16”-18 x ¾” Hex Bolts

(2) 5/16”-18 x ¾” Button Head Bolts
(6) SS M6-1.0 x 16mm Hex Bolts (4) 5/16”-1.25” Washers
(2) SS M6-1.0 x 25mm Hex Bolts

(2) NA Miata Mount Inserts (for extra strength)

Full Kit
(21) SS M6-1.0 Flange Nuts
(8) SS M6 Small Washers

(15) SS M6-1.0 x 14mm Flange Allen Key Bolts

(6) SS M6-1.0 x 16mm Hex Bolts
(2) SS M6-1.0 x 25mm Hex Bolts

(1) Pair of 12-13.75” Splitter Rods w/ hardware here:
(2) 5/16”-18 x ¾” Hex Bolts
(2) 5/16”-18 x ¾” Button Head Bolts
(4) 5/16”-1.25” Washers

(1) 10ft Roll Splitter Trim

(2) NA Miata Mount Inserts (for extra strength)

1


